Lab 7 : By Rawan Fares
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public class Saving extends Account{ no usages
public Saving(int id,double balance){ no usages
super(id,balance);
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import java.util.Scanner;

public class Driver {

static Scanner sc=new Scanner(System.in); nousages

public static void main(String [Jargs){
Saving testl=new Saving( id: 1001, balance: 1000);
System.out.println(testl.toString());
System.out.printin(testl.withdraw( amount: 400));
System.out.println(testl.toString());
testl.deposit( amount: 600);
System.out.println(testl.toString());
System. out . printLn ("rkkkkkkskokkokokkkokokkokokkkkokdkookx ) §
Checking test2=new Checking( id: 1002, balance: 600);
System.out.println(test2.toString());
System.out.printin(test2.withdraw( amount: 200));
System.out.println(test2.toString());
test1.deposit( amount: 306]);
System.out.println(test2.toString());
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import java.util.Date;
public class Account { 2usages 2 inheritors
int id; 5usages
double balance; 8 usages
Date dateCreated; 3 usages
//constructors
public Account(){ nousages
id=0;
balance=0;
}
public Account(int id, double balance) { 2 usages
this.id = id;
this.balance = balance;
this.dateCreated=new Date();
}
//setters and getters
public int getId() { nousages

return id;

}

public void setId(int id) { nousages
this.id = id;

}

public double getBalance() { 2 usages
return balance;
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public void setBalance(double balance) { 1usage
this.balance = balance;

public Date getDateCreated() { nousages
return dateCreated;

}
public boolean withdraw(int amount){ 2 usages 1override
if(amount>balance){
return false;
Telse{

balance+=amount;
return true;

}
public void deposit(int amount){ 2 usages
balance+=amount;
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@0verride
public String toString() {
return "Account{" +
"id=" + id +
", balance=" + balance +

", dateCreated=" + dateCreated +

e
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public class Checking extends Account{ 2 usages

private final double QVER_DRAFT_LIMIT=1000; 2 usages
public Checking(int id,double balance){ 1usage
super(id,balance);

@0verride 2 usages
public boolean withdraw(int amount) {
if(amount >getBalance()+0VER_DRAFT_LIMIT)
return false;
else{
setBalance(getBalance()-OVER_DRAFT_LIMIT);
return true;




